SYIR =T 1201

1 2 | 3| 4 | 5 | 6 |MEBE|IESL
FEE-HB(ZFE=D-[ERSTC) @ 2 | @ ® 1
2(EA-#EA(SABSTC)| 2 @ | 3| 3 4
SMMAR-MEGEZ2R-EE) @ | 2 2 | 2 5
4|ER-ER(LERSTC-EE)| 2 | @ | @ 1 3
5|2 -BFHUEFD-5ASTA)| | @@ | @ 2
6

SYPARZFT120-2

1 2 3 4 5 6 | BSER| BT

=E-AA(HIEs5-ER) @ | @ | 1 2
FER-ILT (R LST-E#®)| 0 @ | 1 3
BAMh - HFEH (B 2R-SESTA)| 1 1 0 4
RE-FEH(ELT—X-58STA)| @ | @ | @ 1

S|l Bl WOWDN

1 4z it FET « BT

1 | 2 fi s - R
3 2
3 L & R

120 —1QD 120—2® 120—1® 120—20
H & 2 i 3 fir & i) - A<
E ] H H
H VN Ji& [e]
5] FH i il



